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Q.1(A) Choose the correct option:
(i) Which of the following is the reason for higher population density in West Maharashtra?

(@) More job opportunities
(b) Urbanisation
(c)Bothaandb
(d) None of them
(if) Availability of land in cities is which of the following?
(a) Limited
(b) Excessive
(c) Medium
(d) Non-availability
(iii) We get information regarding the population of our country from which of the following?
(@) Survey
(b) Census
(c) Sample
(d) Decade
(iv) Large scale migration to cities occur because of which of the following:
(a) Division of labour
(b) Employment opportunities
(c) Shift from farming to working in industries
(d) Settlement in cities

(B) Match the column:

Column A Column B
1. Blue a. Barren

2. Yellow b. Forest

3. Green c. Industrial

4. Red d. Commercial
e. Residential
f. Agricultural

Q.2 Answer in One sentence:
(i) What is a transitional area? And give an example.
(i) State any two reasons for the decline in population in India, since 1981.

(iii) What does the property card highlight?
Q.3 Answer the following:
(i) Even though areawise Rajasthan is a large state the population is less. Which geographical factor

may be responsible for this?*
(if) How do imbalance sex ratios affect the society?*
(iii) What measures can be taken to strike a balance in the sex ratio?



Q.4

Q.5

Read/observe the following map/picture and answer the following questions:
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1. Which state has the highest sex ratio?
2. Which state has the lowest sex ratio?

3. What changes should take place in Maharashtra, to bring about a balanced sex ratio and how much
change is necessary?

Answer the following questions in detail:
Prepare a list of advantageous and disadvantageous factors, affecting population distribution.
-------- All the Best --------



